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Geometric Proba b“ity The probability that a point in a figure will lie in a particular
part of the figure can be caleulated by dividing the area of the part of the figure by the area of
the entire ficure. The quotient is called the geometric probability for the part of the figure.

If a point in region A is chosen at random, then the probability P(B) that the point is in region B,
which is in the interior of region A, is

_area of region B
PB) = area of region A"

Find the probability that a point chosen at random lies in the shaded region. Round
your answers to the nearest tenth.
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